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QUESTION 1

Which management protocol can notify you when a fan fails in your server?

A. SMTP

B. DHCP

C. TFTP

D. IPMI

Correct Answer: D

{\rtfl\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell Dig 2;}}
\viewkind4\uc1\pard\lang2052\fO\fs17 Industry Standard Architecture - Student Guide 2 - Page 185\par IPMl is an
embedded management specification for servers, storage devices, and other network devices. It defines a common and
secure interface for monitoring system voltages, temperature, and fan speeds through the use of embedded monitors. It

is designed to directly control system components while permitting remote system management and recovery of failed
systems.\par }

QUESTION 2

What happens during a differential backup? (Select two)

A. The archive bit is setto 1

B. The archive bit is left alone

C. The archive bit is reset to 0.

D. The transaction log is cleared.

E. The transaction log is left alone.

Correct Answer: BE

{\rtf1\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell DIg 2;}}
\viewkind4\uc1\pard\lang2052\fO\fs17 Industry Standard Architecture - Student Guide 2 - Page 194\par Differential\par
In a differential backup, only the new or changed files with the archive bit set on are backed up. After a file is backed up,

the setting of its archive bit is NOT changed. A differential backup initially takes the least amount of time to perform, but
the time it takes increases as more and more files are included.\par }

QUESTION 3
You have a disk enclosure with 14 x 72GB Wide-Ultra2 SCSI hard disks connected. You add an additional disk
enclosure with 8 x 146GB Hot-Pluggable Ultra320 SCSI hard disks to an array controller. To optimize performance, you

move 3 X

72GB Ultra2 hard disks to a new enclosure to balance the number of hard disks across two channels.
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The disks in the new enclosure are not working correctly and the disks are not seen in the array controller management
tool. There are no conflicting device IDs and termination is correct. All enclosures were powered on before powering up

the server. What are the possible causes of the problem? (Select two)

A. Ultra320 SCSI devices cannot be mixed with Wide-Ultra2 SCSI devices.

B. You must update the SCSI Controller BIOS to the latest supported revision.
C. The cables and/or connectors are faulty or not properly seated.

D. The number of disks exceeds the capability of the controller.

E. The SCSI I/0 module on the disk enclosure is faulty.

Correct Answer: BD

QUESTION 4

What is the virtual machine instance commonly called?
A. guest

B. host

C. partition

D. hypervisor

Correct Answer: A

QUESTION 5

Your customer\\'s workstation has four 15K rpm SAS drives. The customer wants the best possible performance, and is
not concerned about data loss. Which RAID level best meets this customer\\'s needs?

A.RAID 0

B. RAID 1

C.RAID5

D. RAID 6

Correct Answer: A

{\rtf1\ansi\ansicpg936\deffO\deflang1033\deflangfe2052{\fonttbI{\fO\fnil\fcharset0 MS Shell DIg 2;}}
\viewkind4\ucl\pard\lang2052\fO\fs17 Industry Standard Architecture - Student Guide 1 - Page 225:\par RAID 0 ---Disk
striping\par RAID 0 is not fault tolerant and is often used in situations that are not mission-critical, where performance
and capacity are more important than uptime. RAID 0 is the only non-fault-tolerant RAID level supported by HP.\par

Because RAID 0 has no overhead associated with duplication of information, it provides the highest performance. Both
read and write requests can use all member disks simultaneously.\par }
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